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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- He is a woman of -------—-- who has never abandoned his principles for the sake of making
money.
1) utility 2) integrity 3) treaty 4) acrimony

2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interval 2) perception 3) zenith 4) distraction

3- Jackson’s poor typing skills were a -—--—--—-- to finding employment at the nearby office
complex.
1) hindrance 2) supplement 3) confirmation 4) versatility

4- The judge dismissed the extraneous evidence because it was not ---------- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable

5- Because biology is such a ---------- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be ----------
the job. Many industrial diseases mimic sickness from other causes.

1) attributed to 2) precluded from 3) refrained from 4) exposed to
7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4) pursued
8- In the absence of death from other causes, all members of a population may exist in
their environment until the ---------- of senescence, which will cause a decline in the
ability of individuals to survive.
1) ratio 2) onset 3) core 4) output
9- Before the invention and diffusion of writing, translation was ----—-—-- and oral; persons
professionally specializing in such work wer: called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous
10-Public attitudes toward business regulation are somewhat ---------- ; most people resent

intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifferent

Part B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

The variety of successful dictary strategies (11) ---------- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein, low-
carbohydrate regimens such as the Atkins diet compare with (12) ---------- underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) ---------- both help people shed pounds through the same basic mechanism:
(14) ~=---=---- major sources of calories. When you create an energy deficit —that is, when you
consume fewer calories (15) ---------- —your body begins burning its fat stores and you lose
weight.

11- 1) employed 2) are employed 3) is employed 4) then employed

12- 1) those that 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) which limit 4) with limiting

15- 1) are expended 2) that they are expended

3) than you expend 4) to expend
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage 1:

Since the 1960s much landscape planning has been a form of “constraint-based exclusionary
planning”, based largely on the work of McHarg (1969). In this defensive form of planning,
resources are assessed and protected according to their intrinsic value. While this planning
approach has been successful in many respects, it has proven to be ineffective in preventing
landscape fragmentation. MacArthur and Wilson's (1967) theory of island biogeography has
been extended to terrestrial landscapes and explains species decline and extinction resulting
from fragmentation and isolation.

16- Which answer is a definition of '"constraint-based planning'?
1) It try to maximize output and production
2) Constraint-based Planning provides answers for dealing with shortcomings
3) It comes to be a solution for dealing with specific constraints and limitations.
4) All three answers are correct.
17- Choose best definition for: “landscape fragmentation”.
1) The quality or state of being heterogeneous
2) The breaking of large habitat into smaller pieces
3) The increase number and size of patches of natural environment
4) The increase resources in an area
18-What is meaning of ""defensive form of planning"?
1) It tries to protect landscape from change while the landscape around it may experience
changes.
2) it involves recognition of special opportunities and integrating them with other aspect of
planning.
3) it employs nature development to build new elements in previously disturbed or fragmented
landscapes.
4) This form of planning seeks to arrest the negative processes of fragmentation. It is deal with
effectively without doing more harm than necessary.
19- Intrinsic value means as:
1) Value that the environment and life forms have in their own right, and which is not derived
from the human use they can or cannot be put to
2) The inherent worth of something, independent of its value to anyone or anything else.
3) Ecological values that produces by landscape restoration and maintenant.
4) 1 and 2.
20-Theory of island biogeography explanation is about:
1) Species increase and increment
2) Species improvement and melioration
3) Species diminution and destruction
4) Species increment and growth
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Passage 2:

Cities provide important ecosystem services at local, regional, and even global levels (Costanza
et al. 1997; Daily 1997; De Groot et al. 2002; Bastian et al. 2011; Breuste et al. 2011). The
search for sustainable urban land use patterns that maintain ecosystem services under the
pressures of global change is one of the most challenging research questions. How can the city
structure be modified in order to reduce the urban footprint (consumption of land, energy, and
materials), to reduce its vulnerability to climate change, and to enhance its resilience to
upcoming problems of global change? Should we strengthen the idea of a "finite" or an
"endless" city? Should we promote the "compact city" or the "perforated city?" Cities are
drivers of global processes and are at the same time driven by global change. How can the
ecological footprint of cities be reduced on the one hand, and how can innovative mitigation
and adaptation strategies be developed on the other hand?

21- What is main challenging research question?
1) Sustainable urban land use patterns for preserve ecosystem services
2) Sustainable urban land use
3) Urban land use blueprint
4) Keep up ecosystem services
22- Resilience here means as:
1) repercussion 2) flexibility 3) strict 4) rigidness
23-"Compact city" is a:
1) Ecological designed city
2) Green city
3) Relatively high residential density with mixed land uses city
4) City with holes and pieces of waste land
24- What is meaning of ecological footprint
1) The ecological hoof marks/impacts
2) The Ecological surface area
3) The ecological area
4) The ecological expanse
25- Adaptation strategies here means as:
1) An attempt to represent an offense as less serious than it appears by showing mitigating
circumstances
2) Any option that will decrease the impact (negative or positive) of an action or occurrence on
the natural or human environment
3) A strategy for changing something so that it fits a new situation
4) To act in such a way as to cause an offense to seem less serious

Passage 3:

In assessing landscape visual quality there is an assumption that landscapes have an intrinsic or
objective beauty which, although being a subjective response of the observer (Polakowski,
1975), can be quantified via the presence of certain dimensions. Shafer et al. (1969) presented a
compromise between descriptive methods and preference models, namely, holistic models such
as psychophysical and surrogate component models (Buhyoff and Riesenmann, 1979). This
approach has found favour in recent years and is supported by the use of statistical techniques
to determine the mathematical relationships that exist between landscape components and the
scenic preferences of observers.
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26- Choose best title for text:
1) Landscape visual model 2) Landscape visual quality evaluation
3) Landscape visual quality 4) Landscape visual presence

27- Assessing landscape visual quality is based on:

1) Assumption of landscapes intrinsic or objective prettiness.

2) Statement of landscapes innate or objective beauty.

3) Assumption of landscapes inherent or objective magnificence.

4) All answers are correct.

28- Choose best alternative for following sentence:
“The observer can be quantified via the presence of certain dimensions.”

1) The spectator can be quantified via the existence of certain aspects.

2) The spectator can be quantified via the persistence of whole aspects

3) The spectator can be quantified via the perseverance of certain aspects

4) The spectator can be quantified via the extinction of certain aspects
29-“Presented a compromise between descriptive methods and preference models” means:

1) Compare between descriptive methods and preference models.

2)Evaluate between descriptive methods and preference models.

3)Contrast between descriptive methods and preference models.

4) Finding the middle ground between descriptive methods and preference models.
30- Choose best synonym for "landscape component''.

1) Landscape relations 2) Landscape divisions

3) Landscape constituents 4) Landscape mechanism
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